TP1 CANopen 1~H=A¥=17 ) / TP1 CANopen User Manual

2.1 EREN

2.2 AOA =)L EiEE

2.3 ERzHERd 3

2.4 SAFLOEREAND
2.5 MEEZERT D

2.6 HEEZ TR T D

2.7 PSR ENE

N NN NNNN

6.1 NS>RF1—Y
6.2 RS>3>v—H—
6.2.1 Z-TP1-P06

6.2.2 Z-TP1-P07

6.2.3 Z-TP1-P08

gauuuap

7.1 M16x0.75 ( J— K 105)
7.2 M12x1 ( JI—K 106)

N &

Page 1

Siedle Gruppe

2.1 Intended conditions of use 2
2.2 Installation & startup 2
2.3 Check connections 2
2.4 Turning on the system 2
2.5 Check measured values 2
2.6 Check functionality 2
2.7 Failure malfunction 2

6.1 Transducer 4
6.2 Position marker 5
6.2.1 Z-TP1-P06 5
6.2.2 Z-TP1-P07 5
6.2.3 Z-TP1-P08 5

N
[
=)}

M16x0.75 (Code 105)
M12x1 (Code 106)

N
[N
N

novotechnik



TP1 CANopen 1=4=AN=17) | TP1 CANopen User Manual

1 =
TP1 2 U—X(F. #liHl, FHECALSNDIBREZIVY1—-A1TD
WEEM NS> RFT1—YTY,

272 EDTER

L ORE(E, MZEFZ(EMEFERRTEEPNCEREINTE ST
BEFAFERFES. F(CABCRHEOHERTOFEREHFIEINTLEEA.
FHCDVWTE. FIARZZEIZE,

2.1 EABKN

NS RFa1—H(d. REZESRATACHRBIZCEEBNELTVET,
J>bO—-5— (PLCH) &—REICAIBRIES XFLZERHR L. COBENIC
DHERATEET ., tuE. MEVIMEA. Fz@EA >R h—)LFIEOTREF (S,
{REEDTK(C DN BEEBRZEMCLET,

224 A M=) LS

FS2RFa1—HE BEIDIINTORERAEERL T, EIRDHDIEY
ENRETDHNENSGDFT.

SR 21— ORMRERGHEEDSEICAR CMEZRET DLHICHE
IRINRTOREMNRIE. EERICRITIDINENDDET,

2.3 Bz ERY D
TEVRMEREBBEQ. FSORAF1—HZBEITDIRENDDET,
S AT LDEREANDHIC, BIERZTRRHERLTIES,
HHEEE GND &{55 GND OEBfIZESEITTIEES W,
ﬂ HHEEE GND &S5 GND DOBIDEBRINRRD &\
hSURFT1—UHBIRESNDBIREEN B DFE T,

2.4 S>RAFLADEREAND
SAFAE BICRSORT1—HONSA—FIHEERESNT
WRWHIEHIS R AD—EB T H D156, RYDEFRIGARFICHIHEINT
WRWEMEZEIT I DIHEN DD FET .
Ut o To SN ABPIE (CBRAREBRVEKDICLTLZEL,

2.5 MIEEZ RIS

SR —HOXMEFE. FHE-RTRSSI>I-—H—ORMIAIE S
BTREOENEZER T D 2HEDLET,
(FS>RFT1—HREBHFZFRENEDHREDBDETY)

2.6 HREZIERT D
NS> RFT1—HETNICEEYS I AN TOIR—2R hOMEEE FERRN(C
FIvIULTLIZEN,

2.7 #EERENMF

NS —UAEYCEMELRVEEER. EAZELL. NEEALS
REL T IZEN,

Page 2

novotechnik

Siedle Gruppe

1 General description
The TP1 series is a magnetostricitve transducer for direct,
accurate measurement of travel in display- or feedback applications.

2 Safety instructions

Our products are regularly not approved for aeronautic or
aerospace applications and are not allowed to be used in
nuclear or military, in particular ABC-relevant applications.
For more information see our Terms and Conditions.

2.1 Intended use

The transducer is intended to be installed in a machine or system.

Together with a controller (e.g. PLC) it comprises a position measuring system and may only be
used for this purpose.

Unauthorized modifications, improper usage or nonobservance of the instructions for installation
will result in the loss of warranty and liability claims.

2.2 Installation & startup

The transducer must be installed by qualified personnel in consideration of all relevant
safety regulations.

All necessary safety measures to protect personnel and property in case of a transducer
defect or failure must be taken before startup.

2.3 Check connections
Improper connections and overvoltage can damage the transducer.
Check the connections always carefully before turning-on system.

Potential differences between supply voltage
GND and signal GND must be avoided.

With different potentials between supply voltage
GND and signal GND the transducer can be destroyed!

2.4 Turning on the system

The system may execute uncontrolled movements during first
A turning-on mainly when the transducer is part of a control system
whose parameters have not yet been set. Therefore make sure that
hereof no dangers for personnel and property can result.

2.5 Check measured values

After replacement of a transducer, it is advisable to verify the output
values for start- and end position of the position marker in manual mode.
(Transducers are subject to modification or manufacturing tolerances)

2.6 Check functionality
The functionality of the transducer system and all its associated
components should be regularly checked and recorded.

2.7 Failure malfunction
If the transducer system doesn ‘t operate properly, it should be taken
out of service and protected against unauthorized use.



TP1 CANopen 1~H=AV=17)\ | TP1 CANopen User Manual

3 EKMF—4 / Electrical data
{H4REE /Supply voltage:
JHESE /Current consumption:

< 100mA —f#ig#Y /typical

4 1> XA M—IVFIR

BEOVUY TEEHITDEEE &ANLY 200Nem ZEFY DIHEN
HDET,

WMOMIIT STy MIEBRCREI 2 £2BE8HLET,

RS2 a>v—hH— (FoEHY) & U3 e2fo>crOIr+
JVED SEENTSSFR(CENDA ITE T

RS2 IR —N—ERDICRBEE (M4) (F IR (RF> LR,
B59 5. ZILZZOALRE) TERTDIBENSHDET,

fIE SR 21— OREZERI DCE. RS23>I—H—%
JOJ7AIIVEEFHTICHA RIDBENGHDET,

ﬂ FSRF1 DT AL ICRVBRFLEHAN G D L. ESCEEN
REIBOREMNHDFT,

BT — JILOBREORE. +HCANR—RERIFTIREN, B/ dFEE
EEFU. BOTy SERIZBENSOET.

EBHORS>a>I—D—=RmAIT/\ -3 > DiEa,
RT3 > —H—RDIER MR < &6 100mm TRFNFRDFEE A

5 EekR
BREGRRZITO LER. ROKCERITIBLENGDFT,
X5 (BEREGND) &HlfiIF+ExRY b (5 GND) (&
BUEBMTHDIRENSHDET.
BRI (EMC) ZARIET DL UTDIEREZETT 2NENSHDFET:
o B NSUAT1—HEHIHEER. S—ILRT—TILTERITDHENSGDFT.
o Z— )L R B4 DIFFROIEHE. 85%DIKEE,
o FIEMAITIE, —TIL>—IL RaiEi T 2RENSHDEY.

DFED. REGK(CIEGITDVENSHDFT,

ﬂ & —J JViglE 30m M EEBX TERIFT 3T £IFTES R A

Page 3

novotechnik

Siedle Gruppe

24 VDC ( 7—4 > — MBS, /see also data sheet)

4 Instruction for installation

The maximum torque of 200 Ncm is to be considered by

assembling of the mounting clamps.

It is recommended to place the mounting clamps in constant distances.
The position marker (accessory) is installed at a distance to

the profile surface according to item 6.2.

For the mounting of the position marker and the fixing via screws (M4)
non-magnetic material (e.g. stainless steel, brass, aluminum) should be
used preferably.

In order to ensure the accuracy of the transducer, the floating position
marker must be guided parallel to the profile surface.

ﬂ Strong electrical or magnetic fields in the immediate vicinity of
the transducer may lead to faulty signals!

For the area of the cable please take care that enough
space is available, the minimum bending radius has been
observed and sharp edges have be avoided!

For the versions with several position markers the distance between
the position markers must be min. 100 mm!

5 Wiring
Note the following when making electrical connection:
System (supply voltage GND) and control cabinet (signal GND) must be
at the same potential.
To ensure the electromagnetic compatibility (EMC), the following
instructions must be strictly followed:
e Transducer and controller must be connected by using a shielded cable.
e Shielding: Copper filament braided, 85% coverage.
¢ On the controller side the cable shield must be grounded,
i.e. be connected with the protective earth conductor.

ﬂ Cable connection may not extended over 30m!



TP1 CANopen 1-4-Z¥=17)l / TP1 CANopen User Manual  nOvotechnik

Siedle Gruppe

6 1 > X —JL / Installation

6.1 FS5>AX51—Y / Transducer

MBCEENDED : AF—IVEIOMIIOIS2T 2-46 ZEOAY RFv v TR M5x20,
Included in delivery: steel mounting clamps Z-46 incl. head cap screws M5x20

X 3— Rofl f Example ordering code:  TP1-_ _ _ _ -101- -

N—F20 BRI OR
e marking / electrical zero point

L] 73 L

MI2x1

#1
I

o | 1
™=

'_r_L
L
=8

N—F> 0 BRNEOSR oYY RS2 3>R—H—
marking / electrical zero point Accessonies: position marker
Z-TP1-P06, Art.Nr. 005693

&l

rik
N

Jax
_.._.--—I
|

N
FeEatacnrik

B

‘EEi*%ﬁ'ﬁr ~JLZ 200Ncm /
tighten to max. 200 Ncm (=283 ozf in)

375

Page 4



TP1 CANopen 1~t=AV=17)\ | TP1 CANopen User Manual

6.2 R>>3><Y—Hh— / Position markers

6.2.1 Z-TP1-P06 (P/N 005693); JO—>« >2R>> 3>~ —— /floating position marker

BSOS
electrical zere point

&

1

-

novotechnik

Siedle Gruppe

6.2.2 Z-TP1-P07 (P/N 005694); JO—>+ >JR>> 3> —H— /floating position marker

BRNTOR
electrical zerc point

725 il

=l

N

20

15

3-12

6.2.3 Z-TP1-P08 (P/N 005695); /i1 R{FE/RT> 3> —7H— /guided position marker

BRNTOR
6 electrical zero point

7 | &5

- 2 M5 x 10
.
<=2 . =
Mark = :@
me——rran
T
| 1
[ 1 |

Page 5

|

|

=
0
B
55
45
28
+15
ik
o
M)
Ly
wy
b |
I
W
8
- = L

RS a>NV—h—=EERIED &,
NN 26.6mm (CIRDFET,
Rotation of the position marker
results in an offset of 26,6 mm.

374

57




TP1 CANopen 1-4-A¥=17)) / TP1 CANopen UserManual  NOVOIEChNIK

Siedle Gruppe
7 &ESIES / Electrical connection
71 M16 x 0.75 6 E>IS5>>I+U4 [ 6 pin flange connector
EXJ—bofl | Example ordering code: TP1-_ - - 105
9.5
er—7d
=]
» t
= m
= ——Iq {11
E>4&m I Pin configuration
( IJ5>zaxo4~niEmEK | front view to the flange connector )
== / Signal E>ZNDHT / Pin assignment
M16 OJ*2% / M16 connector
. 3 _ a—K -105-
| 4 2 |
: \ / HHEEBE Ub / Supply Ub E>5 / pin5
X @ X
(2 e GND E>6 / pin6
» 2 :
X i CAN high E>2 / pin2
/ ~ T
‘5 \:1 \ Can low E>1 / pini
6 S—JLK / shield E>3 / pin3
/2L / do not connect >4 / pin4

Page 6



TP1 CANopen 1=¥=AN¥=17)\ | TP1 CANopen User Manual

7 &ESIES / Electrical connection

7.2. M12x1 5E>I5>3a%24 [ 5pin flange connector

EXI— Rl | Example ordering code:  TP1 - = s

__-106
16

novotechnik

Siedle Gruppe

M12x1

B =

e>#&m | Pin configuration
( J5>zaxosnErE™ | front view to the flange connector )

5 £2 / Signal E>Z0ET / Pin assignment
—— M12 J*%% / M12 connector
R J—R -106-
4) /- D
% #HATE Ub / Supply Ub £>2 / pin2
e e : -
e v GND E>3 / pin3
1) ) CAN high E>4 / pin4
Can low E>5 pin 5
S—JLR / shield E>1 / pint

8 CANopen - >4 —2Jx1—X / CANopen interface

CANopen {>5F—JIT—REBFT—F>— b (EDS) DiiBA(E. Novotechnik R—AR—2D [F 0> 0O0— R/ EEAE I HNSSFTI>0O0-RTEET,
The description of CANopen interface and the electronic data sheet (EDS) can be downloaded from Novotechnik web site,

see Downloads/Operating manuals.

Page 7




TP1 CANopen 1~tH=A¥=17)l | TP1 CANopen User Manual

9 WERFIEYY

e /R 3>7—H— Z-TP1-P06, P/N 005693

e RS> 3>¥—H— Z-TP1-P07, P/N 005694

o A RFERS23>~¥—H— Z-TP1-P08, P/N 005695

10 A7'>3>7 oYU / Optional accessories

o fEEIOW R Z-TP1-S01-_ _ _
HA RFERSS3>T—H—2Z TP1 P08 D&
ZHEDNFMRE(E 0075 ~ 2000mm T,

*7-46 x 2 FREIF —)LBMDMFT OS>
M5x20 x 4 U4 -3 P /N 056029 /&

*M16x0.75 (IEC 130-9) : 6 E> BREAX RIS, AL —b
EEM 33-82. P/ N 005639
6 EHREAR ORI H .

e M16x0.75 (IEC 130-9) : 7O

EEM 33-94, P/ N 005648

e M12x1, 5 EVEBREX RIS, AL —K
DAY —45"—<6 ... 8 mm. &KX 0.75mm?2
EEM 33-73. P/ N 005645

e M12x1, 5 EWREAROARDSD, P>
DA77 —45"—=6 ... 8 mm. &KX 0.75mm?2
EEM 33-75. P/ N 005646

eM12x1, 5E> =Tty hXARXOARI%S, A hL— k. CAN-Bus
B2 PUR 7 —J )L, IP67. A—T>I 2R

& 2m. EEM 33-41, P/ N 056141

£ 5m. EEM 33-42, P/ N 056142

£ 10m. EEM 33-43. P/ N 056143

e M12x1. 5E> =TIty hARX/ ARORTE, ARL— K~
CAN-Bus BiftZ PUR r—J)LASE, IP68 :
& 5m. EEM 33-44, P/ N 056144

e AUy AEH—/TORDAS M12, 5E> AROARIEFX 1,
M12, AROARDFIx 28 :
EEM 33-45. P/ N 056145

e M12x1, 548, AXOxRT%. CAN-Bus. #&imiHl, 120 Q :
EEM 33-47. P/ N 056147

HEmRtER
101

BITALTHR
HRBEAFCRBSNTLET

-0/8 0 0~/1 01

ESKAIER
EERIFER 0050.. 4250 mm

AN RN B

0050 ... 0500 mm 25 mm#. 0500 ...

1000 ... 2000 mm

YU—x - ]
CBRLBCKDMDRSITHINTEETT .

wWE— - 7> R - IS X (& novotechnik HDIEMRBARIBETY,

Page 8

6

novotechnik

Siedle Gruppe

9 Required Accessories

e Position marker Z-TP1-P06, P/N 005693

e Position marker Z-TP1-P07, P/N 005694

e Guided position marker Z-TP1-P08, P/N 005695

10 Optional accessories

e Actuating rod Z-TP1-S01-
for guided position marker Z-TP1- P08
standard nominal length from 0075 - 2000mm.

e 2x Standard steel mounting clamps Z-46
incl. 4x cylinder screws M5x20, P/N 056029

e Mating female connector, straight M16x0.75 (IEC 130-9):6-pin,
EEM 33-82, P/N 005639

e Mating female connector, angled M16x0.75 (IEC 130-9):6-pin,
EEM 33-94, P/N 005648

e Mating female connector, straight, M12x1, 5-pin,
for wire gauge 6...8 mm, max. 0.75 mm2,
EEM 33-73, P/N 005645

e Mating female connector, angled M12x1; 5-pin,
for wire gauge 6...8 mm, max. 0.75 mm2,
EEM 33-75, P/N 005646

e Cable set - female connector M12x1, 5-pin, CAN-Bus
straight, with molded PUR-cable, IP67, open-ended:
2m length, EEM 33-41, P/N 056141

5m length, EEM 33-42, P/N 056142

10m length, EEM 33-43, P/N 056143

e Cable set — male/female connector M12x1, 5-pin, CANBus, straight,
with molded PUR-cable, IP68:5m length,
EEM 33-44, P/N 056144

e Splitter/T-Connector, 1:1 connection, M12x1, 5-pin, with
one M12 male and two M12 female connectors:
EEM 33-45, P/N 056145

e Terminating resistor, M12x1, 5 poles, male connector, CAN-Bus, 120 Q:
EEM 33-47, P/N 056147

1 7077 1Lk

BRNAVI—Tx—2R
6 :CANopen A9 —Jx1—2X

17§85 CANopen 4 9 —J1—2 6_ _

1:1 X pos. L Sumeé 1 X vel. B8 0.5mm/s (1 PG fix)
3:1 Xpos. E 1 umé 1 Xvel. HfEE 0. 1mm/s (1 PG fix)
5:2 X pos. HEEE B umE 2 X vel. HiEEE 0.5mm/s (2 PG fix)
6:2 X pos. HfERE 1 umE 2 X vel HEEE 0.1mm/s (2 PG fix)

CANopen 45 —J1—2R6__

R—L—h 1000kBaud. F7#/L~/—KID127
R—L—h 800kBaud, F7#)Lk/—RID127
#R—L— b 500kBaud. 77 b/—FKID127
R—bL—h 250kBaud, F7#)Lk/—RID127
R—b—h 126kBaud. F7#)Lh/—RID127
R—UL—hB50kBaud. F7#)Ub/—RID127
R—L—b 20kBaud. 777 )Ub/—RID127
R—L—h 10kBaud. F7#)Lb/—RID127

ERRES

105: 1 X IEC130-9 6EVAIXRIY
106:1XxXM12 5EYAIRIY

CONTHBM =

1 83 -1 0 6

1000 mm 50 mm &

100 mm %, 2000 ... 4250 mm 250 mm &

B BESHEE

WE— - 7> R - TSR

T 355-0311

BEREEEVNIBEEE 2452-5
E-mail : NovotechnikJP@b-plus-kk.jp

T621305A] 2021.03.25



